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: S# Questions A B C p
i 1 | Which dependency is removed in 3NF ? Associative | Transitive Partial Multivalued
! The smailest meaningful unit of data in a : ;
: 2 Satabiann i vilied File Record Character Field
g To find a four character name that starts with H,
: P | the Roria is specified as: H*4 H?4 HNM H s
: Which database model is referred to as an . : Obiject
i’ I 1 tree? Nenwo.rk Hlemhmnl Re ori i
fn, | S | Arelation s also known as: Tuple Reborfl © Relationship
N A techniqflle gzlr physically arranging the P TR B e b m
6 | records secondary sto devices i - Data Gt Pl
E:.‘ called: . i B retrieval - 0 ization program
vcﬁ; ( C — Language )
= ~ Which escape sequence moves the cursor at the - b - i
Jfb beginning of current line?
In statement :
; 8 |  scanf(“%c”, & km); e bl | Float variable mﬁe
: km is a(n):
: 9 | Conditional operator is an alternative of: if If - else If If - else - if
10 | Which loop structure is not available in C? ile Do - while For Do - until
! The keyword used to specify the val - :
: 11 b it i Return Break Continue Static
' Which error occur when the pro the | Runtime ; Conceptual
c& 12 o 1o perfinn &0 ille 9 por Logical error | Syntax error
Which header file i about ) ;
!ﬁt, 13 renatial = stdio.h conio.h maths.h math.h
—'\\}\4 14 | Which data type ighest precision? Float Double Long double l;::;g:’nef
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SECTION -
2. Write short answers o any SIX parts, 12
(MS — Access
(i)  Define entity, (i) Differentiate between parent table and dependent tapje,
(iii) Define ER-Diagram, (iv) Whatismjeu planning?
(v)  Define RDBMS. (vi) Name four database objects in Microsoft Access,

(vii) Name different types of gueries, (viii) Define the term cardinality of relation.
(ix) List different types of forms in Microsoft Access,

: Writuhnrtummtnuy&ﬂiparts. (C—Language) 12
(i) Whatdoyoumunhydelinﬁters? (ii) Dﬂﬁnedebugging.
(iii) Whatisthepmpm.gof#siminC? (iv) Deﬁnestﬁngconshnt. Give two
v) Ljstmyt\vodamtyminc (vi) and binary
{vii) Detenmneﬂleouqxnof‘ﬂmgwen code: (viii) What will be the output of the ven code?
inta= Ima,o,c,
mtb=g; a=]g;
if(a+b<7) b=3;
printf (“% d” a). if(a%b==1) o
else c=0;
prirttf[“%d”,b); else
c=];

prj liwn,c};
(ix)  Find the errors in the given code: < ‘
inta=2
if(a=1) %
printf (“ Ok » ) ; &
Else

printf (“ Cancel ) - °

- Write short answers to any SIX parts, anguage ) 12
() Define standarg input, 1) List two names of functions used for character input.

(iii) Find the errors in the following (iv) Determine the output of the foﬂuwingmdesegmmt
for[x=l,x<=5,x++) int n;
printf (“%d»; x ) for(n=1;n<=5;n++}
printf(“%dtn".n];
(v)  Predict the oulputof\ de segment: (vi) Define text stream,

intk=.

while ( k <=
{
printf ( :

k+

---‘--éﬁjaﬁukz—*@-

(viii) Define function body,

(vii) W ime of local variable?
(ix) Wri usaufﬁeldwid:hspeciﬁusinﬂlmguag&
SECTION-I gpep question carries 08 marks,
( MS-Access ) Attempt any ONE question from the following:

. Define database model. Discuss different types of database models.
- What is first norma] form? Explain it in detail,

(C-Language ) Attempt any TWO questions from the following:

- Describe characteristics of high-leve] Programming languages
- What is control structure? Briefly describe the basic control structure for writing programs. 02,06
- Write a program that inputs anumherandpﬁmitstableusinglmp.



